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	57 x 28 = (50 + 7) x (20 + 8)

57 x 28 = (50 x 20) + (7 x 20) + (50 x 8) + (7 x 8)

57 x 28 = 1 000 + 140 + 400 + 56

57 x 28 = 1 596


· Observe l’exemple et complète :

	57 x 28 = 1 596
	43 x 34 = 1 462
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	34
	

	
	x
	50
	7
	(+)
	
	
	x
	30
	4
	(+)

	28
	20
	1 000
	140
	1 140
	
	
43
	40
	1 200
	160
	1 360

	
	8
	400
	56
	456
	
	
	3
	90
	12
	102

	
	(+)
	1400
	196
	1 596
	
	
	(+)
	1 290
	172
	1 462


	69 x 35 = 2 415
	71 x 58 = 4 118
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	x
	30
	5
	(+)
	
	
	x
	50
	8
	(+)

	69
	60
	1 800
	300
	2 100
	
	
71
	70
	3 500
	560
	4 060

	
	9
	270
	45
	315
	
	
	1
	50
	8
	58

	
	(+)
	2 070
	345
	2 415
	
	
	(+)
	3 550
	568
	4 118


	94 x 29 = 2 726
	38 x 21 = 798
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	21
	

	
	x
	20
	9
	(+)
	
	
	x
	20
	1
	(+)

	94
	90
	1 800
	810
	2 610
	
	
38
	30
	600
	30
	630

	
	4
	80
	36
	116
	
	
	8
	160
	8
	168

	
	(+)
	1 880
	846
	2 726
	
	
	(+)
	760
	38
	798


· Complète :

41 x 53 = (40 + 1) x (50 + 3)

41 x 53 = (40 x 50) + (1 x 50) + (40 x 3) + (1 x 3)

41 x 53 = 2 000 + 50 + 120 + 3 = 2 173
95 x 62 = (90 + 5) x (60 + 2)

95 x 62 = (90 x 60) + (5 x 60) + (90 x 2) + (5 x 2)

95 x 62 = 5 400 + 300 + 180 + 10 = 5 890
55 x 77 = (50 + 5) x (70 + 7)

55 x 77 = (50 x 70) + (5 x 70) + (50 x 7) + (5 x 7)

55 x 77 = 3 500 + 350 + 350 + 35 = 4 235
